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(m) (Vm?) (%) (Ym?) | (Ym?) | (°) | Wm?) | (°)
2-12 1.80-2.04 18.7-42.7
2.87 CH (5) (1.91) (32) 2.4 2.0 14.0 1.0 26.0
2-19 1.80-2.05 | 27.1-38.9 | 0.8-3.4
14.26 CL @) (1.90) 33) 2.6) 2.0 14.0 1.0 30.0
2-9 1.75-1.91 | 33.4-91.6 | 1.6-3.5
22.93 CH 5) (1.81) (1) (1.7) 2.0 14.0 1.0 26.0
5-17 1.18-2.07 | 21.0-40.6 | 2.0-3.8
28.52 CL ) (1.87) (34) 2.9) 2.0 15.0 1.0 30.0
8-42 1.79-2.19 | 14.1-46.5
44.12 CH (24) (1.92) (32) (5.0) 1.5 14.5 0.8 21.3
30 - - - 3.0 34.0 - -
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1.5m H350x350x12x19 (CH)

I:% N=2~12 ¢=14° ¢=2.0t/m? 2.87m

Y=1.80~2.04t/m3,c =2.4t/m?
3.8m ‘

9.0m
H350x350x12x19

3.7m (CL) \
N=2~13 ¢=14° ¢=2.0t/m? 1 1.3“9m
¥,=1.80~2.05t/m3,c,=2.6t/m? \

t=0.6m
L=15m

(CH)
N=2~9 p=14° c=2.0t/m? 5.24m
Yu=1.75~1.91t/m3,c =1.7t/m?

15.0m
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(m) (t/m?) (%) (t/m?) (tm?) | (°) |(tm?)| (°)

1.1 - - - - - - - - -
1-7

23 CL 3) (1.88) (34.2) - - - - -
1-18 1.6-3.5

325 CH (5) (1.86) (35.7) (17) 2.0 20.0| 1.0 |30.7
9-54

47.5 CL (18) (2.01) (25.6) - - - - -
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= 9 N=17~100,% % % 4& 5~10CM
£ 2.4 £ % 2 /& SM Ym=2.04t/m3  C=0.3t/m?
2 N=18 €=0.64 P=35°
W=21.9%

£ KROENCIEY

~ N=11, W,=34.5~39.2% > LL=37~50

= AH L RDR

i N=23

E" SHEHAKLE

< N=15
1 6.57 % % &
\ N>100
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H=11.0m
BxL=14m>19m
SP-1V L=19m
1. (H )
2. @2.0m 12
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